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1. A perfectly competitive industry must have 2 per-

fectly elastic long-run supply curve.

. The quantity of chicken demanded ia 400 million
pounds per year when the price is §4 per bushel
and 600 million pounds per year when the price is
§3 per bushel. The elasticity of demand for chicken
over this price range is inslastic,

- Other thing being equal, tacit coordination of
priced, output, and profita would be most likely in
a rapidly growing industry.

- If @ monopsenist’s Jabar supply curve is positively
sloped, marginal factor cost will exceed the wage
tate,

- Discrimination lowers the average wape of mem-
bers of the disfavered group even when laws require
equal pay lor all workers.
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1. Indifference curves that cross violate the:

(a) principle that consutners prefer more to less.
(b) principle of transitivity.
{c) diminishing marginal rate of substitution.

{d) none of the abave,

2. Assuming that the marginal cost curve has a

smooth U-shape, the corresponding total variable
cost curve has afan):

{a} U-shape.

(b} 5-shape.

{c} reverse-S-shape.

{d] linear shape.

3. After a point, the slope of the short-run tatal vari-
able tost curve begins to increase because of:

% 2H ®_/ H

{2) economies of scale.

(b) diminishing returns.

4. Given a sct of budget lines and an isoquant for a

certain quantity of output, the least-cost way of
producing that quantity of output is shown by the:

{(a} lowant of all budget lines in the set.

{b) budget line that cuts the isoquant where the
latter is steeper.

{c) lowest budget lines that touches the iroquant.

{d) budget linez that cuts the isoquant where the
- Jatter is fattest.

5. At the level of output in which the marginal cost

and marginal revenue curves iptersect, a pure mo-
nopolist’s straight-line demand curve passes below
its average variable cost carve. The firm will:

(2) be able to make a pure economic profit,

(b) shut down in the short-run.

(¢} stay in operation in the short-run, but shut
down evestually if demand conditions do not

improve.

(d} increase price.



B KIS A 5 2 N AL

5l RAREEAZERT M0 _BiE: g * *H B *¥EH

REAREZ D HAE(EHF S Rt

1. Show the change in consumer’s surplus when the
price moves from p to g il

(a) the demand function is #(p) = z - bp, where
4,8 > 0 and pis the price.

(b} the demand function js #(p) = Ap~t, where
A > 0and pis the price.

2. Assume that a consumer's wealth is equal to 1 and
can congume two goods ¢, and gz at prices v, apd
vs, respectively. Construct the consumer's indirect
utility function that corresponds to the direct util-
ity function ¥ = alng, 4 g2-

3. An entreprenenr uses one mput tp preduce two
cutpuls subject to the production relation z =
Algl + qf} Where z is the input, q;, g are the out-
puts, A > 0, and a,8 > 1. He buys the input al
a fixed price  and sells the outputs g, and g at
fixed prices p; and P2, tespectively,

{a) Express his profit-maximizing outputs as func-
tione of the prices.

(b) Frove that hiz production relation is slrictly
convex for qp, gz > 0.
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1. Liguidity Trap
2. Wage Rigidity
3. The Paradox of Thrift

4, The Phjljips Curve
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